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AT, () FYHIH IFAGE S, 998 G 8T g & s e
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) JeI% 97 & G T F) FHIR T GIY T BT |
Solve all parts of a question consecutively together.
(iii) FF Fo7 H1 79 78 G TRET HIorT |
Start each question on fresh page.
(iv) 1 91737 7 377 817 1 [t 7 37 3rqarg 81 A= 8 |

Only English version is valid in case of difference in both the languages.

1. T = gasme
Explain the following :

@)
Swinging
(i) HTT-YEH § gEE 3
Closing error in traversing
(iii) TS A=
Anallatic lens
(iv) O JarR 956 H Rren gl
Apex distance in simple circular curve

(v) Brepufirt qerao

Trigonometrical levelling (2%5)

2. () TrEiense % qet e &% am forfaw qen 3 aifod gl ol wHesy |
Write down the names of fundamental axis of theodolite and explain the
desirable relations among them.
(i) RrSiemse gr &fest v amee i gREhd fafy e |

Explain the repetition method for measurement of horizontal angle with the help
of theodolite. (6+6)

e (1 0f2) P.T.O.
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() T wroft § us s AreT-YE@r ABCD i Y@nsit 6 ewerd e iy E
ST A9} <Y U7 HIR |

Following table gives the lengths and bearings of the lines of a closed traverse
ABCD. Calculate the omitted measurements.

W g fiw) feeawm

Line  Length (metre) Bearing

AB 78.2 140° 12
BC 198.0 36° 24"
CD 37.8 338°48'
DA ? ?
(i) Teret FTET-X@ % W Bq 2ifsie ferftr =) wwemsT |
Explain the transit rule method for balancing a traverse. (6+6)

ﬁaﬁwﬁﬁaaﬁm%&m%@ﬁﬁgﬁ,ﬁwmwm%,m@%ﬁme@%ﬁ
A 1 STt 8, TEfh ST SURI-WRE T & 3T T B 99T Sl ITRT-378T THE
IEAE H A 7

How is the height and horizontal distance of a point, having base inaccessible,
determined by trigonometrical levelling method when both the instrument-stations
are in the same vertical plane and both instrument axes of the same hei ght ? (12)

() 2fereniiex i wasffa faf Hierewr Tmemsv |
Explain with example the tangential method of tacheometer.
(i) GeHE IR T G 9ol HifvT |

Describe with sketch the substance Bar. (8+4)

(i) T TR aish, orereht €l Sftam 80 @ s 200 . 2, 3 fw 10 whew saqa
T HITE 38T hY T HIRTY |

Calculate the ordinates at 10 m intervals for a circular curve, given that the
length of its long chord is 80 m and the radius is 200 m.

(i) T UL bR T3k b G TG ! TRATRI HIfTT |
Define the main elements of a simple circular curve. (6+6)
G HEO H T T dTel IUSHT hl =T iR |
Discuss the instruments to be used in mine surveying. ' 12
=1 o wiferm feoaforat fafaw -
Write the brief notes on the following :
(i) W
EDM
(i) fdfree
GPS
(i) e RIH
Total Station (4x3)




